
3

.AY-
n

5

6

2

.’,,:.

12

13

14

15

16
1

2

3

4

5

6

7

8

9

10

11

12

13

14

712133 1

s 662535 4 b-,
● 632520 d

● 712507 1

712142 1

712125 1

662508 1

712112 1

662510 1

712506 2

712167 1

7121.23 1

712003 1

712568 1
(

d

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

712715

631520

712134

712168

682512

712109

712137

712110

712135

● —

712174

712502

712505

712509

712508

712138

1

1

1
1

2

2

2 (

21

1

1

1

1

2

2

1

WQ— 8



.

16

//

,.
1 712719 1
2 ●712132 1
3 .712121 1
4 ●712720 1
5 672425 2
6 712169 1
7 712433 1
8 712108 2

9 712721 1

10 712412 1

11 712504 1

12 672512 1
1. 712124

I 2 ●712129
3 •712~3

4 .712024

5 ●712609

6 ●712020

7 ●712023

8 ●712019

9 .712021

10 ●712091

11 .712092
12 ● —

13 ●712096

14 712116

15 712504

16 712108

17 712107

18 712344

19 ●712127

20 .712544

1

1

1

1

i

1

1

1

1

1

1

1

1

1

1

2

2

1’

2

1

1



3

4

8

23 24

13—

BE
0 11

“.
Q.

12

\

CL—.

.:63++3..
1

2

3

4

5

6

7

8

9

712615 1’
● 712097 1
712043 1

712016 2

712048 1

037206 1

712190 1

712140 1

712716 1
.
1

2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33

34

712429 cab.
712170
712161
712171
712162
712131
672520
712047
712717
712166
712053
712084
712180
712145
712144
712430
712158
712147
712146
712114
712150
712151
712159
71OOO7
712431
712432
712154
712034
712149
712148
712036
712152
710006
712522

712718

1

1
1
1
1
2
1
i
1
2
1
1
1
1
1
1
1
1
1
1
1
1
4
1
1
1
1
1

1
1

b

186



57

, KW’” .- -- -“34 /
33

Aw-
27

+ 4’8 /7

/> 25 I

I&
1 705377 1 15 ● 705376 1
2 ●71OO41 1 16 .705369 1
3 ●703399 1 17 ●600016 2
4 ●705011 1 18 .620012 1
5 ●705210 1 19 c621028 1
6 .705378 1 20 ●710145 M8x12 1
7 ●705304 1 23 .631612 M6x12 1
8 .621032 1 25 ●631630 M6X30 2
9 .603016 1 26 .710124 1

10 .620012 1 27 705360 1
11 .705370 1 28 705369 1
12 ●6062glJ 1 29 705366 1
13 ●632506 M5x6 3 30 705393 1
14 9705223 1 31 705391Y 1
“32 705392 1 47 ● — 1
33 631510 Msxlo 2 46 ● — 1
34 651050 2 49 ● — 5
85 710156 1 $jo ● — 5
37 705033 1 51 ● — 4
36 620015 1 52 ● — 4
39602022 1 53 ● — 1
40 621035 1 54 712716 1
41 705366 1 55 702554 1
42 640600 1 56 705401 1
43 710002 M6x80 4 57 705284 1
44 705261 1 58 705403 1
G ● — 1 59 705379 1
48 .705266 2 60 702020 1
\

61 710019 M6X1O 2
62 705394 1
63 727018 1
64 702491 1
65— 1
66— 1
87 — 1
66— 1
70 703333 1
71 w71OO2OM6x 16 2
72 ● 703335 1
73 ● — 1

.



‘1 —e
-.,.
1 712017

2 712724

3 .712194

4 ●712087

5 s712009

600—

7*o —

8 .712196

9 ● —

10 ● —

11 ● —

12 ● —

13 ● —

14 ● —

15 ● —

16 ● —

18 ●712722

1900—

20eo —

21 ● o—

2200—

23 ~12113

24 712164

25 712504

26 ‘640500

27 712045

28 712086”

29 712010

30 632530

2

1 (

1
1

2

1

1

1

1

1

2

1

1

1

1

1

1

1

1

1

1

2

1

1“

1

4.

1


	TD 4000
	Figure 1
	Parts List

	Figure 2
	Parts List

	Figure 3
	Parts List

	Figure 4
	Parts List

	Figure 5
	Parts List

	Figure 5
	Parts List

	Figure 6
	Parts List

	Figure 7
	Parts List



